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FA: Aot AEA
HE: AT
CHel: ZAUTMALTO| OHEE B (MSTAILSEHSIN) (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxr&EbIs Xl 1,500,000 *1CH 1,500
202 04l 6,250 6,250
01 =LHOHI 4,500 4,500
Oa==EdEZX 300,000 x5 *33] 4,500
05 SR W0 1,750 1,750 0
OYSTADBAN IEtDS Ol
350,000 x5 *13] 1,750
203 HR=&H] 1,000 1,000
03 A=A R =NH] 1,000 1,000
O3JIUEEHY 228 29 1,000
206 MH=Hl 2,799,360 2,747,520 51,840
01 MZH| 2,799,360 2,747,520 51,840
O=xZ=-8H| 43231+540,000=« 122 2,799,360
308 AHRIEMSOIE 5,472,126 5,472,126
183 SIS B XA AIE 5,472,126 5,472,126
O+ 2EEE =2 X2 5,472,126
401 AlEHIZL SO 110,000 110,000
01 Al&HI 110,000 110,000
O WM SA 110,000,000 * 14| 110,000
405 AHaHE = 9,800 9,800
01 ML ESFSHI 9,800 9,800
OHItHE S2AZM AIAE F
9,800,000& %14 9,800
oligisl 48,633 41,035 7,598
801 GiHIBI 48,633 36,035 12,598
01 gtoiiblgl 48,633 36,035 12,598
o4l 48,633
AE2EZHI 64,727 62,714 2,013
QlARIH (AT AIEEESIA) 64,727 62,714 2,013
=23 01| 64,727 62,714 2,013
101 @12A4H| 57,280 55,498 1,782
03 SRA(RIH )22 U2+ 57,280 55,498 1,782
Oa=E2=3 elAH| 57,280
OoJlzs 3,590,693 «1& 128 43,089
OXRdel=g 225,000 x1E 128 2,700
ogs2d=d 3,815,6983& 1Y 3,816
OIE+< 30,0002 x2& =123 720
Og&E=Itd| 3,466,418 «60%+*22] 4,160
Ootel &S| 50,000& * 122 600
OH X2 4| 146,320 » 15 2,1%
04 HSRESS 7,441 7,216 231
01 gsfs=s 7,447 2,775 4,672
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